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option ps=56%5;

dm 'log;clear;out;clear;’

nroc model DATA=CSERECO OUTMODEL=DK_R1;

DK=DK INT++DK_Y % Y+DKL_T1 % LAG(T1)+DK_RIP % RIP
+DK_K #* LAGK);

ZAR(DK,1)

FITDK/DW,;

run;

proc model DATA=CSERECO OUTMODEL=C_MOD ;
C=C_INT+C_YD % YD+C_A % A+C_R % R+C_T3 * T3;
FIT G/ DW,

rum;

proc model DATA=CSERECO OUTMODEL=IM_RZ;

IM =IM_INT+IM_E % E+IM_P * P+IM_PF * PF+IM_Y % Y
+IM_T2 % T2+IM_DUML % DUM1+IM_DUMR * DUMR;

BAR(IM,2)

FIT IM / DW,

run;

proc model DATA=CSERECO OUTMODEL=EX_RZ;

EY =EX_INT+EX _E %+ E+BEX_P % P+EX_PF % PF+EX_YU % YU
+EX_DUM]1 % DUM1+EX_DUMR2 % DUMZ;

BAREX.2)

FIT EX/DW,;

ran;

proc model DATA=CSERECO GUTMODEL=L_R1;
L =L_INT+L_WP % WP+L_GWC % GWC;
ZAR(L1)

FITL/DW;

run;

proc model DATA=CSERECO OUTMODEL=K_MOD;
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K=K INTH+K IT#I+X_IE*IE+K_RU % RU+K VY*Y+K_A %A
+K_E * E+K_DEEE % DEEE+K_DPPE % DPPE;

FITK/DW;

rum

proc model DATA=CSERECO OUTMODEL=MP_ MOD ;

MP =MP_INT+MP I % I+MP_IE % IE+MP_RU * RU+MP_YV %Y
+MP_A % A+MP_E % E+MP_DEEE * DEEE+MP_DFPPRE % DPPRE ;

FIT MP / DW;

run;

proc medel DATA=CSERECC OUTMODEL=8F MOD;

BP =BP_INT+BP_I#I+BP_IE % [E+BP_RURU+BP Y %Y
+BP_A % A+BP_H % E+BP_DEEE % DEEE4+BP_DPPE % DPPE ;

FIT BP /DW;

run

proc model DATA =CSERECO OUTMODEL=EEFP_ MOD ;

EKFP =EKFP_INT4+EKFP I % I+EEKFP_IE % IE4+EKFP_RU % RU
+EXFP_Y % Y+EKFP_A * A+tEKFP_E % E
+EKFP_DEEE % DERE+EKFP__DPPE % DFFE ;

FIT EKFP / DW;

rum;

QUIT



